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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version Authentic

Q.1(a) (06)
(1) Prove that the points (0,-3) ,(1,-2) and (10,7) are collinear.

(2) Find the equation of circle whose center is (0,0) and passing through

(1.2).

2% -3
x—>0 x
(b) i (08)

(1) Find the acceleration of a partical at t = 3.When S = t* — 6t* + 9t .Find t

and S when acceleration becomes zero
(2) Find f(x) where f(x) = cos’x sinx +¢* and f(0) = 1

Q.2 (a) Fill the blanks. 07)
(1) AB= Where A(1,2) and B(2,3).

(3) Evaluate

(2) Slop of 2x — 3y +4=01is
(3) Radius of x>+ y2 =251is

lim x2+x+l:
x—0 x+1

4

d
5) —tan =
(5 I x

(6) xsinx is an function.(even , odd)
dx
D[—F5=_
) 1+ x?
(b) If f(x) = 1_—" , Show that f(x) + f(1/x) = 0 (03)
+x
(c) Evaluate (04)
li - li
o ™ dxoda Gy T (1+3x)
X—=>a x-a x—0
OR
(b) If f(x) = log [x_—lj prove that f(x) + f( — x) = f(x%) 03)
X
(c) Evaluate (04)
. lim o 277 430 +1 .. lim  sin20
(1) — (ii)
n—>o n+3 6 — 0 tan36



(@

(1) A point moves such that its distance from y axis is equal to its
distance from (-1,8). Find its locus.

(2) Find the area of the triangle formed by the points (3,4), (2,-1)
and (4,-6).

(3) Find the equation of line which passes through the point (4,3)
and perpendicular to the line4y -3 x +7=0.

(4) Find the centre and radius of the circle 2x” + 2y* — 8x + 4y +2 =0

(b) Find x and y intercept of the line 2x +3y -4 =0
OR
(@
(1) If (1,0) is the circumcentre of A ABC whose vertices are (x,3) , (-2,4)
and (3, \/ﬁ). Find x .
(2) Find the equation of perpendicular bisector of line segment joining the
points (-1,2) and (1,-2).
(3) Show that the point (4,-5) is inside the circle x>+ y*— 4x +6y—5 =0
(4) Find the equation of tangent and normal to the circle :
x* 4y —6x + 10y + 21 = 0 at the point (1,-2)
(b) Find the distance between parallel lines 4x —3y +2=0and 4x -3y +9=0

(a) Differentiate x sinx using definition .
(b) (1) Find % of xsiny+ysinx =35
X

(ii) Differentiate sinx w.r.t. tan’x

2
(¢) Fory=cosAx +sinAx, show that % + A%y =0

OR
(a) Differentiate X +3x -2 using definition

(b) Find Q
dx

(i) y

i)y = Sin_l(l 2x2j _ I+tanx
+X

l—tanx

(¢) Find the maxima and minima of f(x) = 2x”— 3x* - 12x + 5

(a) Evaluate

(1) j( 3sin x coszx jdx (ii) J‘(4x3 —l+sinx—ex]dx
2cos? sin” x X

(i) j —logx d
| X

(b) Show that the area of ellipse — +Z—2 =11s b
a’
OR
(a) Evaluate
/2
. dx ... [ sec’x Jsinx
(1) I (i1) j dx (1i1) J.
9+ 4x? cos ecx \/sin x ++/cos x

(b) Find volume of the revolution obtained by revolving the ellipse

2 2
X :
— +y—2 =1 about y axis.
a” b
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Yl 1 (A)
(HAQA 5A 3 (Glga (0,-3) ,(1,-2) A (10,7) UHW B,
(2) (1,2) Ml YRR Ul AU (0,0) Foscllowl dne] AL 0.
lim 2% -3*

(3) Al
x—>0 x

(%)
(1) t=3 AL 5Qell YAl Wl %A S =t — 6+ 9t B.YAIL Yo
ol R t3ulal S M.
(2) f(x) el >AUL £(x) =cos’x sinx +e*  Wa f0)=1
st 2 1) el ol YRl

(1) AB = Ul A(1,2) AR B(2,3).
(2)2x — 3y +4=0ql 8N 8.
(3) x* +y> =25 o{l B>l .
@) lim x2+x+1:

x—0 x+1 -

d
5) —tan =
(5) o x

(6) xsinx A QR & .(You, WYoM)

dx
7 =
( )Jl+x2
@) %A fix)= :—xélu dl, lcdlel ¥ f(x) + f(1/x) =0
X
(5) 1ol
i ™ x-da iy "™ (143"
X —> a X—a x—0

el
() %\ f(x) = log (X—_IJ Ao A, Ul 3 fi(x) + f{ — x) = fx%)
X
(%) Andl:
(1)

lim 2x%+3n+1 (i) lim  sin26

n—oow  n43 6 —> 0 tan36@
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(1) y vet el (-1,8) &l URull v 8l ad sl ol o0 (olg ual 2.

) (g 3 3,4), 2.-1) U (4,-6) &l slotcl ASlaL of Ansn AHAL.

3) (g (4,3) Hiell UAR Ul UA Wl 4y -3 x +7=0 ol Aol il o
Uls20L k.
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Usl 3 (A
( )(1) o8l (1,0) A Boll QIRALIEA (x,3), (-2,4) UA3,421) B Aci ASlale]
UR¥o% 8lal Al x 20l
(2) (-1,2) Aol (1,-2) A sl UviS ot dollaeiess of wllswL A,
(3) ULl 3 (Ag (4.-5) A adn x>+y*—4x +6y—5 =0 oll viEell
eUoLHL B.
@) adn x> +y*—6x+10y+21=0 a (1,-2) [(lgA 2uals wal w@Aciolo]
Als20L k.
(O) AHIAR U 4x — 3y + 2=0 ¥ 4x — 3y + 9=0 dWa] R Wl
usl 4 1) calvalell Heedll x sinx of [Ascet s3A.
QY
(i) x siny +y sinx =5 H(2 % 0.
(if) sinx o tan’x ol WAL (A5t 5.

2
(5) y = cosAx + sinAx U, dclal 5 ﬂ+A2y =0
dx?

WUl
usl 4 ) cvloll Heedl x* +3x -2 of [Asctat 5

(0l Y Q.
dx

i) y=
1+x? iy

(8) f(x)=2x>-3x>—12x + 5 o{l HETH U oYotriH (FHc M.
yst 5 () Aadl

) J'( Ssinx | cosy jdx (ii) J.(4x3—l+sinx—exjdx
2cos’x sin’x X

(iii) _[ —ng X) d

i)y = Sin_l( 2x j .. 1+tanx
1—tanx

(@) olcllel ¥ Guactl —+y—2_1°j AASN b B.
a

Al
yst s ) Aad

/2

2
S€C X smx
& J' (ii J' dx (i _[
) 9+ 4x? ) cos ecx ) \/smx+\/cosx

(o) Guactal X—+Z—2—1 Ay wetell AU 3Rccl olotdl eldle] dsisn
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